(%i1) (1 + 1/(1 + x))/(1 - 1/(1 + vy));

1
----- + 1
X + 1
(%01)  eeeeeae-
1
1 - --e--
y + 1
(%12) 'sum ('integrate (f(x)"k, x, @, inf), k, 1, m);
m inf
===/
\ | K
(%02) > I f (x) dx
/ ]
==== [
k=1 0
(%i3) 'diff ('product (h[K](x, y, 2z), k, 1, n), x, 1, y, 1, z, 1);
n
3 =====
d ! !
(%03) """" (! 'h (X, Y, Z))
dx dy dz ! Kk
k=1
(%14) matrix ([a, b, c], [d, e, T], [g, h, 1]);
[a b ¢ ]
[ ]
(%04) [d e T ]
[ ]
[g h 1]
(%15) abs (x™a”b);
! b!
'a !
(%05) Ix !
(%i6) 'at (1/(1 + f(x)), x = a);
I
1 !
(%06)  eeeee--- !
f(x) + 1!



